
Energia di soglia di una reazione 

Esercizio 
 

1.  Calcolare	
  l’energia	
  di	
  soglia	
  nel	
  c.d.m.	
  e	
  nel	
  laboratorio	
  per	
  la	
  produzione	
  
a)  di	
  un	
  mesone	
  π0

	
  	
  a	
  seguito	
  della	
  reazione	
  p	
  +	
  p	
  à	
  p	
  +	
  p	
  +	
  π0;	
  
b)  di	
  un	
  mesone	
  π0	
  a	
  seguito	
  della	
  reazione	
  π+	
  +	
  p	
  à	
  p	
  +	
  p	
  +	
  π0;	
  
c)  (a	
  casa)	
  di	
  un	
  mesone	
  K0

	
  a	
  seguito	
  della	
  reazione	
  p	
  +	
  p	
  à	
  p	
  +	
  Λ0	
  +	
  K+;	
  
d)  (a	
  casa)	
  di	
  un	
  iperone	
  Σ+	
  a	
  seguito	
  della	
  reazione	
  p	
  +	
  p	
  à	
  p	
  +	
  Σ+.	
  

Si	
  ricorda	
  che	
  mp	
  =	
  938.3	
  MeV,	
  mπ0	
  =	
  135.0	
  MeV,	
  mπ+	
  =	
  139.6	
  MeV,	
  mΛ0	
  =	
  1116	
  MeV,	
  mΣ+	
  =	
  1189	
  MeV.	
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